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QUESTION 1

For the cluster network of a two-node cluster running Data ONTAP 8.3.1, which statement is true? 

A. Client traffic will never be sent across the cluster network, since ALUA automatically chooses the best path. 

B. Only the traffic that is required for a volume move operation is sent across the cluster network. 

C. Only configuration data is sent across the cluster network. 

D. Client traffic will be sent across the cluster network, if the LIF and the volume are not on the same node. 

Correct Answer: C 

 

QUESTION 2

Click the Exhibit tab. 
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You are provided output from the sysconfig -a and sysconfig ?r commands of a MetroCluster cluster for disk
switch1:15.45 SN#J9YG1U3L, as shown in the exhibit. Which two statements are true in this scenario? (Choose two.) 

A. The disk is located at the file2 site. 

B. The disk is located in switch3. 

C. The disk is located at the file3 site. 

D. The disk is in shelf 2 bay 13. 

Correct Answer: CD 

 

QUESTION 3

Click the Exhibit tab. 
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A customer is attempting to protect the source volume listed in the exhibit. They try to initialize a DP mirror relationship
to the destination volume but it will not initialize as expected. Which two settings on the destination volume are causing
this problem? (Choose two.) 

A. language 

B. type 

C. volume size 

D. max-autosize 

Correct Answer: BD 

 

QUESTION 4

Click the Exhibit tab. 
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The exhibit shows an overview of a customer\\'s network design. The customer is experiencing ping loss. As part of the
troubleshooting process, you receive output by using the ifgrp status command from the node shell. In this scenario,
what is the customer\\'s problem? 

A. The interface group on the controller is not using the default type, causing a connection mismatch with the switch. 

B. Link aggregation is not active on the switch, despite being in the design. 

C. Virtual interface (VIF) is deprecated in clustered Data ONTAP because the interface group is not working as it
should. 

D. Virtual LANs (VLANs) are not used, which causes the interfaces to be overloaded. 

Correct Answer: C 

 

QUESTION 5

Click the Exhibit tab. 
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Which two steps would you perform to correct the problem shown in the exhibit? (Choose two.) 

A. Reseat the power supplies. 

B. Perform a takeover and giveback. 

C. Replace the shelf chassis. 

D. Reseat the shelf modules. 

Correct Answer: BD 
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